
CHEMISTRY

BOOKS - A N EXCEL PUBLICATION

REDOX REACTIONS

Question Bank

1. Calculate the oxidation number of underlined element in the following

compound: 

Watch Video Solution

HN––O3

2. 

Calculate the oxidation number of Cr in  and P in .K2Cr2O7 H2P2O5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mCVgoff4qwxW
https://dl.doubtnut.com/l/_wJn2DAhBnzYD


Watch Video Solution

3. Calculate the o0XIdation number of Cr in 

Watch Video Solution

CrO2 −
4

4. Repsented the following compounds using Stock notation : 

Watch Video Solution

FeO, Fe2O3, CuO, MnO, MnO2, HAuCl4

5. . 


In this reaction ? Justify your answer.

Watch Video Solution

2Na + H2 → 2NaH

https://dl.doubtnut.com/l/_wJn2DAhBnzYD
https://dl.doubtnut.com/l/_C6kXdMPXwd6b
https://dl.doubtnut.com/l/_MIHFeNNjp2WJ
https://dl.doubtnut.com/l/_3GzJxSidVq90


6. Identify the o0XIdant and reductant and the atoms undergoing

o0XIdation and reduction in the following redox reactions. 

Watch Video Solution

MnO2 + 4HCl → MnCl2 + Cl2 + 2H2O

7. Identify the o0XIdant and reductant and the atoms undergoing

o0XIdation and reduction in the following redox reactions. 

Watch Video Solution

H2S + 2HNO3 → 2NO2 + 2H2O + S

8. Balance the following equation using o0XIdation number method : 

Cu +  (acid medium)

Watch Video Solution

NO− →
3 NO2Cu

2 +

https://dl.doubtnut.com/l/_Gs5sM20N9UIo
https://dl.doubtnut.com/l/_f1jstzKTuzVP
https://dl.doubtnut.com/l/_jEmiG79DmdXn


9. Permanganate ion reacts with bromide ion in basic medium to give

manganese dioxide and bromate ion. Write the balanced equation for the

reaction using oxidation number method. 

Skeletal equation is 

Watch Video Solution

MnO
−
4 + Br− → MnO2 + BrO−

3

10. Write balanced ionic equation for the reaction of  with 

 in acidic medium to form chromium (III) ion and sulphate ion.

Watch Video Solution

K2Cr2O7

Na2SO3

11. Balance the following equation by the half reaction method. 

Watch Video Solution

Fe2 + (aq) + Cr2O
2 −
7 (aq) + H + (aq) → Fe3 + (aq) + Cr3 + (aq) + H2O(I)

https://dl.doubtnut.com/l/_soCyygLo4a9V
https://dl.doubtnut.com/l/_v8teR8Pr5WJ7
https://dl.doubtnut.com/l/_9c5qeAcCZIg7
https://dl.doubtnut.com/l/_SoIxQqQniFy9


12. Permanganate ion oxidises iodide to iodine in basic medium. Balance

the equation.

Watch Video Solution

13. Assign o0XIdation number to the underlined elements in each of the

following species 

Watch Video Solution

14. Assign oxidation number to the underlined elements in each of the

following species 

https://dl.doubtnut.com/l/_SoIxQqQniFy9
https://dl.doubtnut.com/l/_ryVYoFFv2EIL
https://dl.doubtnut.com/l/_D3M2C3QkNxqW


Watch Video Solution

15. Assign o0XIdation number to the underlined elements in each of the

following species 

View Text Solution

16. Assign oxidation number to the underlined elements in each of the

following species 

Watch Video Solution

17. Assign oxidation number to the underlined element in the following

species 

https://dl.doubtnut.com/l/_D3M2C3QkNxqW
https://dl.doubtnut.com/l/_Jp5CIuAbgj0T
https://dl.doubtnut.com/l/_6OFuKH9ayGv6
https://dl.doubtnut.com/l/_8vBt5GZeYPYV


Watch Video Solution

18. Assign o0XIdation number to the underlined elements in each of the

following species 

View Text Solution

19. What are the o0XIdation number of the underlined elements in each

of the following and how do you rationalise the results ? 

View Text Solution

https://dl.doubtnut.com/l/_8vBt5GZeYPYV
https://dl.doubtnut.com/l/_U1o7Gx0tFzRY
https://dl.doubtnut.com/l/_C2LTMYi9A3yH
https://dl.doubtnut.com/l/_oQ8kwnzlVUyX


20. What are the o0XIdation number of the underlined elements in each

of the following and how do you rationalise the results ? 

View Text Solution

21. What are the o0XIdation number of the underlined elements in each

of the following and how do you rationalise the results ? 

View Text Solution

22. What are the o0XIdation number of the underlined elements in each

of the following and how do you rationalise the results ? 

View Text Solution

https://dl.doubtnut.com/l/_oQ8kwnzlVUyX
https://dl.doubtnut.com/l/_44tXiYOkUDMo
https://dl.doubtnut.com/l/_BSanc17hc1gn


23. What are the oxidation number of the underlined elements in each of

the following and how do you rationalise the results ? 

Watch Video Solution

24. Justify the given reaction is redox reaction 

 (g)

Watch Video Solution

CuO(s) + H2(g) → Cu(s) + H2O

25. Justify the following reaction is redox reaction 

 (g)

Watch Video Solution

Fe2O3(s) + 3CO(g) → 2Fe(s) + 3CO2

https://dl.doubtnut.com/l/_VjoK9x0HjdRI
https://dl.doubtnut.com/l/_VOcBUOhibpnh
https://dl.doubtnut.com/l/_5wzTRRWzNk18


26. Justify the following reaction is redox reaction 

 (s)

Watch Video Solution

4BCl3(g) + 3LiAlH4(s) → 2B2H6(g) + 3LiCl(s) + 3AlCl3

27. Justify the given reaction is redox reaction 

Watch Video Solution

2K(s) + F2(g) → 2FK(s)

28. Justify the following reaction is redox reaction 

 (g)

Watch Video Solution

4NH3(g) + 5O2(g) → 4NO(g) + 6H2O

29. Fluorine react with ice and results in the change 

https://dl.doubtnut.com/l/_UMvYc4HKq1kX
https://dl.doubtnut.com/l/_ZHaErCzGbqKR
https://dl.doubtnut.com/l/_Q4jRL7wnlm0x
https://dl.doubtnut.com/l/_q1J6mgKBT6va


View Text Solution

30. Calculate the oxidation number of 's' in  ?

Watch Video Solution

H2SO4

31. Calculate the oxidation number of Cr in `CrO_5 .

Watch Video Solution

32. Calculate the oxidation number of N in  .

Watch Video Solution

NO−
3

33. Write formulas for the following compounds: 

a) Mercury (II) chloride

Watch Video Solution

https://dl.doubtnut.com/l/_q1J6mgKBT6va
https://dl.doubtnut.com/l/_ecCutgK9cpzc
https://dl.doubtnut.com/l/_aB7YeHy8yHqW
https://dl.doubtnut.com/l/_WRkCG1gezbVA
https://dl.doubtnut.com/l/_cqV6F02yhPqH


34. Write the formula of the following compounds. 

Nickel Sulphate

Watch Video Solution

35. Write the formula of the following compound. 

Tin (IV) Oxide

Watch Video Solution

36. Write formula for the following compound: 

Thallium (I) sulphate

Watch Video Solution

37. Write formula for the following compound: 

Iron (III) Sulphate

https://dl.doubtnut.com/l/_cqV6F02yhPqH
https://dl.doubtnut.com/l/_TXtXhfdGx7D0
https://dl.doubtnut.com/l/_MIPhSuMk2iFx
https://dl.doubtnut.com/l/_GSNpIs4RR7Ya
https://dl.doubtnut.com/l/_ehfQd7ABMW6E


Watch Video Solution

38. Write formula for the following compound: 

Chromium (III) oxide

Watch Video Solution

39. While  and  act as oXIdising as well as reducing agents in

reactions,  and  act only as oxIdents. Why ?

Watch Video Solution

SO2 H2O2

O3 HNO3

40. The compound  is unstable. However, if formed, the compound

acts as a very strong oxiding agent. Why?

Watch Video Solution

AgF2

https://dl.doubtnut.com/l/_ehfQd7ABMW6E
https://dl.doubtnut.com/l/_BuaBcbIvePTo
https://dl.doubtnut.com/l/_WTTAjno10zL1
https://dl.doubtnut.com/l/_9eXKz9cMqnW3


41. Balance the following redox reaction by ion electron method 

(aq) (aq)  (base medium)

Watch Video Solution

MnO
−
4 + I − → MnO2(s) + I2(s)

42. Balance the following redox reactions by ion electron method 

 (aq) (acid medium)

Watch Video Solution

MnO
− ( aq )

4 + SO2(g) → Mn2 + (aq) + HSO
−
4

43. Balance the following redox reaction by ion electron method 

 (l) (acid medium)

Watch Video Solution

H2O2(aq) + Fe2 + (aq) → Fe3 + (aq) + H2O

44. Balance the following Redox reaction by ion-electron method or

oxidation number method (Acid medium).

https://dl.doubtnut.com/l/_JGhvWkhoUGTN
https://dl.doubtnut.com/l/_ryfJs04CLlol
https://dl.doubtnut.com/l/_9frN58ut3FyN
https://dl.doubtnut.com/l/_E52BCZbtPQPk


Watch Video Solution

Cr2O
2 −
7 ( aq )

+ SO2............. > Cr3 +SO2 −
4 ( aq )

45. Balance the equations in the basic medium by ion electron method

and oxidation number methods. Identify the oxidant and reductant 

Watch Video Solution

P4(s) + OH − (aq) → PH3(g) + H2PO
−
2 (aq)

46. Balance the equations in the basic medium by ion electron method

and o0XIdation number methods. Identify the o0XIdant and reductant 

Watch Video Solution

N2H2(l) + ClO−
3 (aq) → NO(g) + Cl− (g)

47. Balance the equations in the basic medium by ion electron method

and oxidation number methods. Identify the oxidant and reductant 

https://dl.doubtnut.com/l/_E52BCZbtPQPk
https://dl.doubtnut.com/l/_tvoI7CELq6AN
https://dl.doubtnut.com/l/_hcvJU3wSZB42
https://dl.doubtnut.com/l/_f3oFBazV3PCJ


Watch Video Solution

Cl2O7(g) + H2O2(aq) → ClO−
2 (aq) + O2(g) + H +

48. Arrange the following in the order in which they displace each other

from the solution of their salts. Al, Cu, Fe,Mg and Zn

Watch Video Solution

49. Given the standard electrode potentials 

Arrange them in increasing order of reducing power.

Watch Video Solution

K + /K = − 2.93V , Ag+ /Ag = + 0.8V , Hg2 + /Hg = 0.79V , Mg2 + /M

50. Chimical reactions which involve oxidation and reduction are called

redox reactions. The unbalanced equation in the ionic form of a redox

reaction is shown below 

https://dl.doubtnut.com/l/_f3oFBazV3PCJ
https://dl.doubtnut.com/l/_TjfRfw4vtI8L
https://dl.doubtnut.com/l/_QKnyrT5dYScx
https://dl.doubtnut.com/l/_CzVERBx0ANAA


 


a) Identify the oxidizing agent in this reaction

Watch Video Solution

Fe2 + (aq) + Cr2O
2 −
7 (aq)

acidicmedium
−−−−−−−→ Fe3 + (aq) + Cr3 + (aq)

51. Chimical reactions which involve oxidation and reduction are called

redox reactions. The unbalanced equation in the ionic form of a redox

reaction is shown below 

 


b) Name the species getting oxidized in the above reaction.

Watch Video Solution

Fe2 + (aq) + Cr2O
2 −
7 (aq)

acidicmedium
−−−−−−−→ Fe3 + (aq) + Cr3 + (aq)

52. Chimical reactions which involve oxidation and reduction are called

redox reactions. The unbalanced equation in the ionic form of a redox

reaction is shown below 

 


c) Balance the above equation by the oxidation number method.

W t h Vid S l ti

Fe2 + (aq) + Cr2O
2 −
7 (aq)

acidicmedium
−−−−−−−→ Fe3 + (aq) + Cr3 + (aq)

https://dl.doubtnut.com/l/_CzVERBx0ANAA
https://dl.doubtnut.com/l/_fGFdbDfoIv8d
https://dl.doubtnut.com/l/_ReQbyAcCP2rL


Watch Video Solution

53. A farmer prepared 1% solution of copper sulphate using iron rod as

the stirrer for preparing Bordeaux mixture. Next day he notices that the

blue color almost disappeared and the iron get coated with reddish

brown material. 

a) What is the reddish brown material deposited on the iron rod?

Watch Video Solution

54. A farmer prepared 1% solution of copper sulphate using iron rod as

the stirrer for preparing Bordeaux mixture. Next day he notices that the

blue color almost disappeared and the iron get coated with reddish

brown material. 

b) Account for the color change of the solution.

Watch Video Solution

https://dl.doubtnut.com/l/_ReQbyAcCP2rL
https://dl.doubtnut.com/l/_k0XtgWlqlu6F
https://dl.doubtnut.com/l/_L1LRfjloQdyT


55. A farmer prepared 1% solution of copper sulphate using iron rod as

the stirrer for preparing Bordeaux mixture. Next day he notices that the

blue color almost disappeared and the iron get coated with reddish

brown material. 

c) Justify that the above phenomenon is a redox reaction.

Watch Video Solution

56. Balance the following equation by the half reaction method. 

Watch Video Solution

Fe2 + (aq) + Cr2O
2 −
7 (aq) + H + (aq) → Fe3 + (aq) + Cr3 + (aq) + H2O(I)

57. In redox reactions, oxidation and reduction occur simultaneously .

How are oxidation and reduction related to the oxidation number ?

Watch Video Solution

https://dl.doubtnut.com/l/_C89ZUAmwpWah
https://dl.doubtnut.com/l/_xSogaBjOMX1N
https://dl.doubtnut.com/l/_VUUU8Smf7L36
https://dl.doubtnut.com/l/_R6BPRMWi2SX6


58. In redox reactions, oxidation and reduction occur simultaneously .

b) During a group discussion, one of your friends argues that thermal

decomposition of  is a redox reaction while that of  is not

a redox reaction. Give your opinion and substantiate.

Watch Video Solution

KCIO3 CaCO3

59. Using stock notation, represent the following compounds. FeO and

.

Watch Video Solution

MnO2

60. Redox reactions are those reactions in which oxidation and reduction

takes place simultaneously. Write any two redox reactions.

Watch Video Solution

https://dl.doubtnut.com/l/_R6BPRMWi2SX6
https://dl.doubtnut.com/l/_ionSuz820E8O
https://dl.doubtnut.com/l/_EKQq1ySehlbn


61. Competitive electron transfer reactions are utilzed in the construction

of Galvanic cells. 

a) Write the redox reaction involved when metallic cobalt is placed in a

nickle sulphate solution. 

(Note: Only the ionic reaction is expected).

Watch Video Solution

62. Competitive electron transfer reactions are utilzed in the construction

of Galvanic cells. 

b) In the reaction 

 


identify the following 

i) Substance oxidied

Watch Video Solution

Pb(s) + PbO2(s) + 2H2SO4(aq) → PbSO4(s) + 2H2O(I)

https://dl.doubtnut.com/l/_312ryz8akSmh
https://dl.doubtnut.com/l/_UxMoLKhrexIr


63. Competitive electron transfer reactions are utilzed in the construction

of Galvanic cells. 

b) In the reaction 

 


identify the following 

ii) Substance reduced

Watch Video Solution

Pb(s) + PbO2(s) + 2H2SO4(aq) → PbSO4(s) + 2H2O(I)

64. Competitive electron transfer reactions are utilzed in the construction

of Galvanic cells. 

b) In the reaction 

 


identify the following 

iii) Oxidizing agent

Watch Video Solution

Pb(s) + PbO2(s) + 2H2SO4(aq) → PbSO4(s) + 2H2O(I)

https://dl.doubtnut.com/l/_qNFUGMNhq5oi
https://dl.doubtnut.com/l/_AGMim8YdFOrq


65. Competitive electron transfer reactions are utilzed in the construction

of Galvanic cells. 

b) In the reaction 

 


identify the following 

iv) Reducting agent

Watch Video Solution

Pb(s) + PbO2(s) + 2H2SO4(aq) → PbSO4(s) + 2H2O(I)

66. Calculate the oxidation number of Cr in  and S in .

Watch Video Solution

Cr2O3 H2SO4

67. Calculate the oxidation number of 's' in  ?

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_AS95ubu284x8
https://dl.doubtnut.com/l/_3fNVB6s1WrjQ
https://dl.doubtnut.com/l/_7hQtkyMTVgIV


68. In disproportionation reaction an element in one oxidation state is

simultaneously oxidised and reduced. Identify the element undergoing

disproportionation in the following reaction 

Watch Video Solution

P4 + 3O ¯̄̄H̄ + 3H2O → PH3 + 3H2PO
−
2

69. Write the formula of the following compounds. 

Nickel Sulphate

Watch Video Solution

70. Write the formula of the following compound. 

Tin (IV) Oxide

Watch Video Solution

https://dl.doubtnut.com/l/_0XaFScgAMZKU
https://dl.doubtnut.com/l/_T6lhj5bKbOmO
https://dl.doubtnut.com/l/_WsNUYmK52OAW


71. Fluorine reacts with ice as given bellow: 

 


Justify that this is a redox reaction.

Watch Video Solution

H2O(s) + F2(g) → HF (g) + HOF (g)

72. Given the redox reaction: 

 


i) Identify the species which undergo reduction and which undergo

oxidation

Watch Video Solution

CuO(s) + H2(g) ↔ Cu(s) + H2O(g)

73. Given the redox reaction: 

 


Identify the reductant and oxidant in the above reaction .

Watch Video Solution

CuO(s) + H2(g) ↔ Cu(s) + H2O(g)

https://dl.doubtnut.com/l/_L9Bp1fTU5cBF
https://dl.doubtnut.com/l/_9ekIOFm18vWG
https://dl.doubtnut.com/l/_CeQuQOtiz7H3


74. Among the following reactions, identify the one which is NOT a redox

reaction

Watch Video Solution

75. Among the following reactions, identify the one which is NOT a redox

reaction

Watch Video Solution

76. Among the following reactions, identify the one which is NOT a redox

reaction

Watch Video Solution

77. Among the following reactions, identify the one which is NOT a redox

reaction

https://dl.doubtnut.com/l/_KQbuzybbRBYN
https://dl.doubtnut.com/l/_UTT4ELLsYGMI
https://dl.doubtnut.com/l/_40yvSMaJzUFz
https://dl.doubtnut.com/l/_BBymNcSaE1ue


Watch Video Solution

78. Redox reactions can be considered as electron transfer reactions. In

an experiment a copper rod is dipped in  solution 


What happens to the colour of the solution and why?

Watch Video Solution

AgNO3

79. Redox reactions can be considered as electron transfer reactions. In

an experiment a copper rod is dipped in  solution 


Identify the oxidizing and reducing agent in this reaction .

Watch Video Solution

AgNO3

80. 

Calculate the oxidation number of Cr in  and P in .

Watch Video Solution

K2Cr2O7 H2P2O5

https://dl.doubtnut.com/l/_BBymNcSaE1ue
https://dl.doubtnut.com/l/_OQMOOR4myW3G
https://dl.doubtnut.com/l/_IrisI39ZqgdS
https://dl.doubtnut.com/l/_u93lDDNL49wD


81. 

Calculate the oxidation number of Cr in  and P in .

Watch Video Solution

K2Cr2O7 H2P2O5

https://dl.doubtnut.com/l/_YsGpYfTPr2ql

